Odredi totku naelipsi 5x2 + 9y? = 405 zakoju jerazlikaudaljenosti od Zari&ta
elipse jednaka 8.

T(xr,y1)

Fi1(—e 0)

Fz(e7 O)
&€=a-b*=81-45=36
e=6 — F1(—6,0), F2(6,0)
r+r,=2a

[r1—r2] =8

n+r,=18 = r,=18-n;

[r1—r2] =8
[r1 —18+r1| =8
|2r; — 18/ =8
2rp —18= -8 2rp—18=28
2r; = 10 2r =26
rn=>5 rp=13
T(xr,y1)
5x2 + 9y2 = 405
9y2 = 405 — 5x2
y2 =45 — gx%
=5 ...dT,F)=5

Vxr +6)2+ (yr —02=5 /?
X2+ 12xr +36+y2 =25

x$+12xT+36+45—gx$:25
4
§x$+12xT+56:o /-9

46 +108xr +504=0 /:4
¢ + 27x + 126 = 0

—27+15
(XT)1,2 = — 5
(x7)1 = =21 (nijerjeSenjejer (xy = —21 < —a= —9)

XT=-—6 = yr = 45—8-36:\/45—20::&:5

— Tl’z(—ﬁ, :|:5)
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r1:13

. d(T,Fy) =13

V(% + 62+ (yr —02=13 /2
X2 + 12xr + 36+ Y2 = 169

X-2r+12xT+36+45—gx?r=169

4., 9
§XT+12XT_88=0 /-L—1r

X2 + 27xr — 198 =0

—274+\729+792 —27+39
(XT)1,2 = > = 5
(xr)1 = —33 (nijerjesenjejer (xy = —33< —a= —9)
XT=6 = yr = 45—;36:\/mzi5

— T3,4 (6, :|:5)





